Assignment #1.2

Goal：Print 1! to N! (N factorial), N(50。
Guide：
Each printed factorials must be of precise value in each digit. That is, you are supposed to store these values with integers, not floating points.
Note that the data type integer is of limited 16 bits、32 bits or 64 bits, which is not sufficient to store large numbers. For large N (such as N=50), N! can’t be stored with the data type of an integer. For example, in an integer represented by unsigned 32 bits, its maximum is 232-1=4,294,967,295. When N>=13, 13! = 6,227,020,800 can’t be stored. Therefore, here you should use an array for storing a very large integer. For example, to store 3264, you can use an array of size 4 as follows:
	3
	2
	6
	4


Here, the rightmost element is A [0], and the sequence is A[3]=3, A[2]=2, A[1]=6 and A[0]=4.
Each element in this array can, in fact, be used to store an integer 10 or more (32 bits or 64 bits). However, here we use one element to store only one digit (0 to 9). To perform a multiplication, such as 3264*25, you can refer to the following progress:
	  0
	  0
	  3
	  2
	  6
	  4


*                         25

	  0
	  0
	 75
	 50
	150
	100


Carry from units to tens:
	  0
	  0
	 75
	 50
	160
	  0


Carry from tens to hundreds:
	  0
	  0
	 75
	 66
	  0
	  0


Carry from hundreds to thousands:
	  0
	  0
	 81
	  6
	  0
	  0


Carry from thousands to ten-thousands:
	  0
	  8
	  1
	  6
	  0
	  0


Input format：
   There are several test cases. Each test case is a single line containing

an integer N, 0(N(50. The input is terminated by 0. There is no output for this 0.
Output format：

For each case, print the factorials from 1! to N! (total N rows). Two cases are separated with a blank line.
Sample input：
6

10

0
Sample output：

1!=1

2!=2

3!=6

4!=24

5!=120

6!=720

1!=1

2!=2

3!=6

4!=24

5!=120

6!=720

7!=5040

8!=40320

9!=362880

10!=3628800
